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FACULTY OF COMRCE

 B.Com. (Third Year) (Sixth Semester) EXAMINATION

‘ OCTOBER/NOVEMBER, 2015 :

P ECONOMIC DEVELOPMENT AND PLANNING IN INDIA

- Paper I1

(Thursday, 19-11-2015) ¥,

Time : 10.00 a.m. to 12.00 noon ;

' Time—Two Hours Maximum Marks—a0

NB. — (). Question No. 1 is compulsory.

(ir) AH'-questions carry equal marks,

10

P.T.O..
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2. Explain the Industrial Policy of 1980, : 10

1980 ¥ el HRU T w1

Or '\M
(feram)
Explainthemeaningandswpeofwivaﬁsaﬁm,
GRS Y 3 e W S0
3. Explain the financing of the cleventh pias 10
L il
FFE Ao Sy A == = 2
& L
(_E 3
What is Globalisation ? Explain the Globalisation impact en Indian
Economy.
> ' - e
ST O B 2 ST RO SR e o v
W HA.
4.  Explain the Macro-economic dimensions of Eleventh Plam. - W

g &

“
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Write short notes on - : |
(@ Liberalisation

(6)  Economic planning in India.

qea feqr fomr .

(@) I By ! b

(b) RS afdE fem.

A—21—2015 3
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FACULTY OF COMMERCE

B.Com. (Third Year) (Sixth Semester) EXAMINATION

OCTOBER/NOVEMBER, 2015

BUSINESS REGULATORY FRAMEWORK

Paper 11 _ . |

(Friday, 20-11-2015) Time : 10.00 a.m. to 12.00 noon i

; ‘Time—Two Hours | M;xx.r:n;_um Marks—40 f
NB. — ;) Attempt afl questions.

(@) All questions carry equal marks.
® ¥d 9 dean
C @) WA YT WA T emRa.

1.  Explain the rights of consumer under the Consumer Protection

Act, 1986. = 10

UEH TV FTERI, 1986 TOR UEH IR o w1 |

-

P.T.0,
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Explain the presentation of Negohable Instruments under the
Negotiable Instruments Act, 1881. : : 10
Rt mﬂrﬁ FIHE, 1881 TAR wIoAem m&armé mﬂm‘m
oz 'ﬁh"!'l
_ -
(e
| Explain the rules regarding welfare of labourers under Factories

Act, -1948.

'mmavfuﬁwq 194ammmtﬂ%ﬁqq__
e FU.
Explain the nature and scope of Right to Information under the

Right to Information Act, 2005, R 10

Hifedt sfawR Fwwr, zoosmﬁamﬁ?hwwaaﬁt
S8 G : s :
o
- (w
Explain the rights an.d powers of A‘uthoritieﬁ for settlément of.

Industnal Disputes under the Industnal Dlsputes Act, 1947 T

i faar wm@e, 19471mﬁamﬁzammm
sfgwR o =% = .

“
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4.- Write short notes on any two of the following : 10
’(l_') State Commission;
@) -{}hequeT
(2i1), Worke-r
(iv) Strike. :
© T S =
@) HHEIR - X |

(iv) . Y.

A—25—-2015 3
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' This question paper contains 16+4 pri_ntéd pages]
- . © A—40 to 45—2015
i FACULTY OF COMMERCE
B.Com. (Third Year) (Sixth Se;nester) EXAM[NATION
g OCTOBER/NOVEMBER, 2015
3 i e - INCOME TAX LAW AND PRACTICE—II
(Taxation Group-A)
OR
HUMAN RESOURCE MANAGEMENT—II
/ OR '
E-COMMERCE—III
(Legal Framework and Technology)
- OR :
BANKING AND INSURANCE
(E-Banking and Accounting—II)

OR Yo
CO-OPERATION—IT
) OR
TRAVEL AND TOURISM
_ - (Travel—II)
(Saturday, 21-11-2015)  Time : 10.00 a.m. to 12.00 noon

Time—Two Hours Maximum Marks—40
' INCOME TAX LAW AND PRACTICE—II .u
(Taxation Group-A)
. N.B. :— (i) All questions are compulsory.
()  All questions carry equal marks. :
(iii)  Use of simple non-progrémmable _calc-ulé.tof is allowed.
@) WE YA e eETE I
G) W TEAE FEAE IO SR
i) T AFR-TEEe SoRo ATIUEE WA S Y

- | _ P10,
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1. From the following information of Mr. Ram, calculate deductions

u/s 80C for the assessment year 2014-15 : : s |

(1) Life insurance policy of ¥ 40,000 on own life taken in 2011,

premium paid ¥ 9,000.

(2)  Life insurance policy of ¥ 20,000 on major son’s life, premium

paid ¥ 1,600.

(3)  Life insurance premium paid on life of married daughter % 1,000.

(4) Life insurance policy of Z 40,000 on wife’s life taken on 1-5-2012,

premium paid T 5,000.
(5) Contribut.ion‘ to Recognised Provident Fund ¥ 5,000.
(6) Contribution to Public Provident Fund ¥ 24,000.
(7)  Group insurance premium paid I 4,000. 5 ) '
(8) Investment in N.S.C. VIII Issue ?- 10,000.
(9) Tuition fees paid for three children (X 7,500 per chil.d) 3 22,500.

(10) Repayment of home loan taken from bank (principal amount)

% 20,000.
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sit T =N wele AfedaEd FAHRT a9 2014-15 W& FEH 80C

AR FHUCE T FA

(D

(2)
(3)

4)

(6))

(6)

» < (7)

(8)

9

2011 H¥3 Eocd] WA=l SAgENS T 40,000 91 Soq fa=ms

YSATE I 2 9,000.
HIE HIB=AT T 20,000 AT e Fers YA MU 3 1,600.
ﬁa@agﬁﬁrvﬂmﬁmmﬁﬁﬁ%ﬁn,wa

1-5-2012 it 'aa@sw TST=IT T 40,000 =1 SiaA =g uanﬁi’r

M T 5,000.
T vfasa frafe e 9rem 7 5,000.

wEstE 9fgs frate fue drem 2 24,000,

e fam yeArs IMYE T 4,000.

TS o9q YA Sed ffea "3 Taas 2 10,000.

9 gom fiaw e S (T 7 7,500) T 22,500.

(10) ShHgA UAOTA TEHSE WABE HeA (&S W) T 20,000,

P.T.O.
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2. Compute tax liability of Mr. Ram for the assessment year 2014-15 from

the following particulars D 10
T :

@  Income from Salary : _ : 95,000

@) Income from House Property (Computed) _ 44,000

(i)  Income from Business : 4,20,000

(iv) Long-term Capital Gains . 20,000

) | Income from Lottery ‘ 69,000

(vi) Ino;)me_ fmm Interest on Government Securities 15,000 !

@mﬁamﬁ?ﬂammﬁmaﬁzolmsmsﬁmmwa%

|

frafo =3 . : !

|

S - T

@) ST Se : : 95,000 ]

L G) e SO (T $09) 44,000. |

. |

(iti) Wﬂiﬂ% Eiat =, 4,20,000 |
) EFFST WS T . ke 20,000
) ST 39 ‘ : 69,000
i) WHER Ffaydierie =T S 15,000

w
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Or
(o)

Total income of Mr. Bharat is ¥ 6,20,000. Compute the amount of tax

payable for the assessment year 2014-15 if :.
(@  Age of Mr. Bharat is between 60 to 80 years (Senior Citizen)

(6)  Age of Mr. Bharat is above 80 years (Super Senior Citizen).

o 9 v:n% THT 9 T 6,20,000 AR. FHROT 96 2014-15 TS
oA FRgad R w1 oS

@ aﬁwﬁwso%soaﬁwm-(@r@m)

®) W A T 80 TIE T IR (D )

3.  Shri Sanjay furnishes the.following particulars of income and losses
for the assessment year 2014-15 : - 10
1 :

(1) Taxable income from salary 1,50,000

(2) Income from house property 16,000

(3) Profit from readymade garments business 1,40,000

- - (4) Speculative profits : 10,000

BEEO
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(5) Long-term capital gains 24,000
6) - Short-tern.m capital gains 5 * 8,000 :
(7)  Current yeér’s depreciation 4,500

The following items are brought forward from the assessment year

2012-13 :
(1) Speculative loss _ 15,000
. (2) Long-term capital loss ' 15,000

(8) Short-term capital loss \ 6,000

‘Compute gross total income for the assessment year 2014-15.

ﬁ%imaiﬁmﬁuﬁm&ﬁzou-ismét YT S=T A TSy

el Hat AR
7 A
‘ {
£
(1) ST FHAA ._ 1,50,000
@ TEEIEIETY S ' ' 16,000
8) IR HYs FEHE™ I 1,40,000
@) HES YA TE : 10,000
(6) S weaws o 24,000 ‘

i _
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(6) ISl WieTS oY 8,000
(7) T SNrEl HER ! 4,500

FAURT a9 2012-13 T A Wew @OETEN oA

1) TSI g 15,000
(2) SEHedt WSSl ' 15,000
8) ICUgEdl wieaet Bl 6,000

ERELL) aﬁ.zo14-15 TS He THY SO T
Or
NG
The information of income and losses for the year ended 31st March,

2014 of Mr. Narayan is as follows :

3

(1) Income from salary. ° - 1,16,800

(2) Income frmln interest on debentures 8,400
(3) Income from House Property :

() Income from House ‘A’ ‘ 7,200

() Loss .from Hous;e ‘B’ . 3,400

@) Loss from House C’ ' 9,200

: ' PO
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(4) Income from Business :

(i)  Profit from Cloth business _ 12,800 .

(zi) Loss from Stationery businéss 8,900,
(i) Profit from Speculation business ‘A’ ' 10,600
(fv) Loss from Speculation business ‘B’ : 4,600

(5) Income from Capital Gains :

"5 " Shortterm Eapital Gaine 18,600 .J
: ‘ |
(@) Long-term Capital Gains - 4,200
(iz) Long-term Capital Loss 8,300
(6) Income from other sources 7,700

Compute Gross Total Income of Mr. Narayan for the assessment

L R T

year 2014-15.

31 A4, 2014 TS FUOTI FHHAG S TRFO = IT=r=t § T
Aifedt TSIGTEN SR I

2
1) ST 39 .' 1,16,800
@ FREAENS AT Sa 8400

e 3
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@) TR SO
@ A TR SO 7,200
‘(ii) ‘B’ SR FFﬁ : . : 3,400
(i) *C’ PR Ll 9,200

(4) STIEENREEY SO
() YIS HSHENRE TH 12,800
() AR AR Bt 8,900
(iii) A’ A1 HEEATSToA HSHETIR TH ; I1o,600
Gy B SIS SEEETEE B 4,600

(5) WieTe THNEAS SHA

& @ mmga'cﬁ qEgHt @I 18,600
“‘I’ - @) g eIt o : 4,200
(i) efpedt wieaet B s,éoo
© TR ST o : 7,700

Ffutcor o 2014-15 T S TREW Ao WES THY G TH
.

PO,

L__*—‘
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4, W‘rit_e short notes on (any two) : ‘ 10

(@ Provisions for deduction of tax at source from salary
(6)  Incomplete return
(cJ- Return of loss
(d) Payment n?f a@vance tax. -
- dieEE fem fomr (m ) :
(@ AT SR S T
®) 37Yui faERorey
(¢) e faaRoms
d) I F e
OR
(R
HUMAN RESOURCE MANAGEMENT—II
N.B. :— (i)  Attempt All questions.
@@). All questions carry equal marks.
@ W g e
@) W wEE gEE T SR
1. IState.the Workers Part:icipati_c;-n in Management form in detail. 10

N



. S 3 A—40 to 45—2015

2.  What is Performance Appraisal ? Discuss objective of Performance

Appraisal. ' 10

FHEE qom "o w5 ? HAME JemErEea e w=
hil.

Or
(feriam)
Write a note on Human Resource Accounting in detail.
St G o AR wfawr fegor fomn /
3. What is Wages and S'alary ? Explain its types. : 10.
TS F 999 ®WUS ®E 2 @ USdl 9.
' or
(e
Give the information about Human Resource Information System.
= 4.  State the importance of motivation in detail. 10
SR e v i
Or
e
Explain the principle of Wages and Salary inl detail.
TS 9 St 9 gfesR 9.
BITO.
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OR |
(fewam) | B 23
E-COMMERCE—[ﬁ . |
(Legal Framework and Technology) .
N.B. — (1) Attempt All questions. -
(@) Q. No. 1 is compulsory.

(i) Al qﬁest:ibns ‘carry equal marks.

@ nﬁm@wf
G) WH wHE 1 AfEd TR

(i) aémwgmaw%ﬁ

1. What is E-mail ? Explain applications of Electronic Mail. 10
fw T w7 Ao T T
2. Describe the fr_'amework E-commerce. 10
& aforet e A
Or ; '
(feram)
Whail:. is EDI ? Explain -beneﬁts of EDL

Sdom =S FE 2 idam ¥ W we s

e ———————————= 7 Yy
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3. Wr_'ite a detailed note on WWW server. 10
. : Or
(feram)
What is E-commerce ? Explain Software and E-commerce.

‘é—arfum‘mﬁm 7xﬂ‘qaam anfor E-anforsy T &AL

4. Write short notes on (any two) : 10
@) TP
() EDI

(zii) Inﬁ‘astfucture of E-commerce

(v) Interactivity tools.

b drerm fewr fomr (Fomd M)
() UEIA.
('::::) 32131

(i) 3-SOT WA HOEA
(v) TRERfE @A

BT
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| OR
(feam)
BANKING AND INSURANCE
(E-Bal;king and Accounting—II)

NB — (1)  Attempt Ail questions.

(ii).' Q. No. 1 is compulsory.

() WE WA e

G) W wEE 1 e e ' r

1. From the following particulars of Khajanchi Bank Ltd. for the-

year ending 31st March, 2014, prepare P&L A/c in the prescribed

pro forma : : 10
‘. Particulars Amount () r

' Interest on Loans and Advances 3,80,000
\ . . k

Interest on Overdraft & c/c : ' 40,000

Interest on Saving Deposits : . 30,000

Interest on Current Deposits : 25,000

Interest on Fixed Deposits 95,000

Commission and Discount - . 1,40,000

Salaries E . 21,000
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I')irector;s Remuneration ; 35,060
Audit Fees I . 1,500
Depreciation on Premises _ 26,800
Law Charges 8,700
Insuraﬁce, Rent and Taxes . 7,000
Additional Information :

(@ Rebate on bills discounted : 25,000
() Income tax paid : 65,000
(© Dividend declared : _ 1,00,000
(d) Create reserve for bad and doubtful debts 20,000

(e)  Provide 20% statutory reserve on profit as per sec.-15 of BR Act.

S e waifen T 31 A, 2014?‘1@@1@1@3#@%
ﬁuﬁawmmﬁw%@ TR FH :

qIHTS = Q)
N 7 e ww 3,80,000
sfufasd 5 = : 40,000
ERGieicrlic: i | . 30,000
T, AR AT & | 25,000

P.T.O.

T TR
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T e =T 3 ' 95,000
HEE T TR 1,40,000
CLa i 21,000
’ SR
HaoF HEor™ A i 35,000
sREN o ' 150
TRAER YERT ' 26,800
TR T _ i 8700
wre, famr, == _ - 7,000
e et :
@ oo feen wem 25,000
®) TEF TW . - 65,000
() VIR STER __ 1,00,000
@ T T aﬁf foreft ' - 20,000 F

Sy

(e MM oo FoH 15 TR TR 209% Jefw whad @
.

%

2. Discuss the impact of income recognition and asset classification norms

with reference to P&L A/c and Balance Sheet of Banks. 10

ﬁww%@amﬁmmmwwmﬁ@ma
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Or

(Fram)

~ Explain various items in Balance Sheet of a bank included in Credit-
Deposit Ratio. '
iR TEE .

Explain the nature and significance of Bank audit by Reserve Bank
of India. - . i 10

fegrdl < it SfeamR oA o= dwten SHH WY 3 TEw
Or
(feram
Explain_ the various contents. of Audit Report of a bank.
EE : : TEn
Write short notes on (any two) :
(@ Asset Liability Management in Banks
(®).  Debit-Credit Cards
(¢) Camel Rating.
e 9 = (afrmwér ) .
(@ RS Guf-2a ae
®) fw-wk =
© =Fe T
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OR
(feram)

CO-OPERATION—II , ' :

NB. :— G  an questions are compulsory.
@)  All questions carry equ;:l marks, -_ By
® W Hreferr T TR }

@ - W T o e | =

1.  State the Powers and duties of Co—operatwe Officer. 10

e aarrma HAHFR T Fdem wim.
2. Explain the importance of Co-operative Sugar Factories. 10
FEFH W BREEE e we
Or
(fepam)
Write a note on Co-operative Regmtrar

Wﬁawﬁwm

Soclet]es

mwmmwﬁmﬁqm
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4, State the formation of Consumer’s Co-operative Stores. 10
Ted FEHRl WISHIE SHR w.
| Or
' (feram)
Discuss the formation of Co-operative Sugar Factories.
OR
(feam)
TRAVEL AND TOURISM
(Travel—II)
N.B. — @) : Attempt All questions.
(@)  All questions carry equal marks.
@) Q. No._l is compulsory..
@ W WA e
: @) WS WA WHA O SR
) w1 shEE e,

1.  State the functions of Tour Operator.

2. What are the types of Tourist Guide ?

BIEO:
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. A—40 to 452015 ‘
O . |
(feam)
Explain the duties and responsibilities of Tourist Guide
Vied Anfezierer w5 SEES TR 5,
3= Discuss ah;out Tour preparation.

Or
(Fam)
Write dowr; the instructions given by Tourist gujde‘during tour.

T Wi

ha

4, Write short notes on (any two) -

@  Tour Package

@) Travel Insurance

() Travel Agent Behaviour

() Physical Fitness. .

e feo o ( FIAE BH)
| LD T/ uEw

@ T fom

i) e ArterteT ade

(o) TR dewwd. - "1

A—40 to 45—2015 0 ' -
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FACULTY OF COMMERCE
B.Com. (Third Year) (Sixth Sei:nestef) EXAMINATION
x ' OCTOBER/NOVEMBER, 2015
TAXATION GROUP—A
(M-VAT and Seryice Tax—II)
| OR
(Marketing Management—II)
OR

& E-Commerce : (Marketing and Internet Advertising—IV)

OR

(E-insurance and Accounting—II)
OR

(Rural Development—II)

OR

(Travel and Tourism—II)

(Monday, 23-11-2015) Time : 10.00_a.m. to 12.00 noon

Time—Two Hours Maximum Marks—40

(M-VAT and Service Tax—II)

N.B. :(—Q. No.1 is compulsory.
T % 1 ¥ AEE e
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What do you mean by service tax ? Explain its features. 10
a1 T RS w7 @ SR we w

Write a note on ‘Service Tax Administration’. ' B |

b

‘T W W' wF 9 e,
'OF'.
(feiam)
'Clﬂ've the classification of services and state the taxable services.
State the provisions regarding the filling of returns and _payment

of service tax. _ 10

o feed () Wﬁamﬁmmﬁmwa@
.
Or
(feram)
State the procedure of valuation of taxable services and state rates

of taxes.

FA AN qAEAE TSR W w0 @ g,
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WT . (GRigay A—52 to 57—2015
-4, Write short notes on (any two) : ] 10
@ Practising Chartered Accountant
()  List of service provider

(¢)  Exemptions :

e (d)  Coaching practice.
Hfera fer fomr (Fromerd =)
(@ I 'Y dE
®) N WEeRRE T
(¢) TR
3 @ fFEeh ¥ (Practice).

OR
(feram)
(Marketing Management—IT)
T N.B. :— () Question No. 1 is compulsory.

@) All questions carry equal marks.
(@) ~ Attempt All questions.
@ W F 1 e o
@) W T G O s
(@) W g e,

P.T.0.
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What is marketing research ? Explain the importance of marketing

research. ' r : =230
fawom Sl s wE 2 fawe s e e
Discuss in detail the global marketing. ' ' 10
ST favor wfaere e
Or
Gy
Explajn.the strategies for maintaining customer relations.

Define market segmentation. Explain the bases of market

segmentati on. ; 10 ;

wﬁaﬁmaﬁammmﬁwﬁmﬁmw.
| Or
(feeiam)
Write a detailed note on Consumer Behaviour.

U’® TSR gfaer feqor fom.

A
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Explain the objectiveé of marketing research. v 10
or
(ewam)
Explain the concept of insurance marketing. |

OR

(faham)

E-Commerce : (Marketing and Internet Advertising—IV)

N.B. :— (i) . Attempt All questions.

(if) Question No. 1 is compulsory.
(iit)  All questions carry equal marks.
O W e e

@ ¥ % 1 e emw.

(i) W& A FHA O SR

P.T.0.
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Explain the models of Internet Advertising.

Explain a detailed Web Browser’s Multimedia .content.

%m?@ﬁ%m-ﬁ?mmm.
or

(fwam

Describe in detail agent technologies.

Discuss the E-commerce influence on marketing.

g-aforar faroAee guE A == =

Or
(fewiam)
State need for .agents in E-commerce.
$-atr st T
Write short notes on (any fwo) :

(&)  Information Publishing Technology

WT
W
Y X
2.
A
3.
4.
A § —

10

10

10

10
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(i)  Marketing Communication
(i) Competitive Advertising Media :
(lv) Types of Agents.
= i e fom fom (Foremd G
() Hfedt yFRE dEEE
@) IR HEe
i) TTee Sfea-
(iv) HAfYFER TR

- OR
(feram)
(E-Insurance and Accounting—II)
N.B. :— (i) Attempt All questions.

| (@) All questions carry equal marks.

() Wd g3 grean
* @) W TR GEE T s




WT

( 8 ) A—52 to 57—2015

Explain the meaning and claims of Life Insurance. 10
o fomren o nfr =7y e
Describe thé Computel; Accounting of Insurance Company. 10
Or
(feram)
Write a note on Inspection of Insurance Business- Transactions by
IR]'.;JA.
for e s $.9RELT. (IRDA) 27 Fursit araw foqor
.
Explain the Statutory Audit of Insurance Company. 10
fom wof duife sidam ww =
Or
(feRam)
Comment on the Life Insurance Premium.

S fam ot foooit =540,
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4. Describe the guidelines for Bancassurance,

Or
(feram) |

From the following particulars prepare Balance Sheet of the

10

Corporation : _

(For the year ending 31st March, 2014)

Particulars

‘Amount
3
2 Annuities due but not paid 44,000
Amount recoverable under Re-insurance 10,000
Claims admitted but not pgid 1,68,000
Govt. securities : 30,d0,d00
Interest accrued 30,000
) ‘Life Insu:;ance fund 29,16,600
Prelimin'a;y expenses 1,200
Share -ca;_:ital ‘ 8,00,000
> ~ Sundry assets | _ | 8,67,400
Outstanding premiums = 20,000

10 R
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TFe THaomees T mersers fudfasto Tar U ¢

(31 1;1%?, 2014 TS QUOT=AT FuTehiian)

fearvor TaRd
2

29 U %GT. i A 44,000
T wreh wEd e w | 10,000
1 i i w0 S
Erean wa'cﬁ - 30,00,000
SUTE AR : 30,000
St fam fash 29,16,600
wrifes @ : EX 1,200
g Ve : - 8,00,000
fafay wuwit 8,67,400
HYTT YA 29,000
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. OR
(feram)
(Rural Deveiopment—II)
N.B. :— (i) Attempt All questions.

(iz) All questions carry equal marks,
(i) Question No. 1 is compulsory,
@ wd A Hrea. |
(i) WE GEAMT HEE O SR

Gii) WH w1 dAEd o

A—52 to 57—2015

1. Discuss the role of Industrial Development Bank of India (IDBI)

in Rural Development.

10

P.TO,
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~ Explain the functions of Block Level Swarnjayanti Gram Swarozgar

Yojan;l (SGSY) Committee. | 10
Or
(feram)
State the functions of Rashtr.iya Mahila Kosh (RMK).
A wfger wmTEr HEOCEAL
Write a note on Prime Minister’s Rozgar Yojana (PMRY). 10
Or
(feram)
Discuss on National Scheduled.Castes Finance and Development
Corporation (NSFDC).

T ergfad wt faw 9 faew were@fawE T F
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Exblain the operational process of Rural Employment .Generation

Programme. AT : 2 10

\ : Or _
(ﬁv'?r)
Discuss on Swarnjayanti Gram Swarozgar Yojana.(SGSY). -
it I TR A T
OR
(i
(Travel and Tourism—II)

N.B. :— () Question No. 1 is compulsory.

(@) All questions carry equal marks.

© ¥ FH 1 dEE e
@) W WA WHA O e
s 1.  Explain integrated'marketing in Tourism. 10
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Explain Tourism marketing and marketing process.
A fawom 3 faum sfEdiesr == #a.
Or
(feram)
What are the types of Hotel ? Explain.
Feod YHR TR FH
Explain the need of Tourism Promotion.
Or
(ferem)
Discuss the accommodation facilities in hotels.
e framh R T
Write short notes on any two :
(#)  Thomas Cook India
(i;ﬁ) Keshri Tour.
(zi1) Tourism marketing functions

(iv) Needs of hotel.
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[ FACULTY OF COMMERCE

I ; | - B.Com. (Third Year) (Sixth Semester) EXAMINATION

R L OCTOBER/NOVEMBER, 2015
F ADVANCED ACCOUNTING AND AUDITING—II

(Theory)

{ (Tuesday, 17-11-2015)  Time : 10.00 a.m. to 12,00 noon

Time—Two Hours Maximum Marks—40

"N.B. :—() "Question No. 1 is compulsory.
¥ . @) Al questions_éarry equal marks.
F . @ I w1 e e
F _ @) W WA FEA U SR
1. | What is meant .by Audit ? Wﬁte its limitation. 10

SHYY TS wE 7 Wk fom

2.  Write the types of errors. 10

% TFR T

Or
3 Define the techniques to obtain Audit Evidence.

stehem Y frefrras % fave
B.T:0.
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3.  Explain the difference between Investigation and Auditing. 10
AT T SRHT AT TE TR Y
¥ ;
(feam)

Write the responsibilities of Company At;ditor.
4. . Write kinds of Audit Report. ; ' 10
SHE Sy AR for
| or
(feram)
Write the powers of company audit;or.

- A—02-2015 9
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FACULTY OF COMMERCE

B.Com. (Third Year) (Sixth Semester) EXAMINATION

OCTOBER/NOVEMBER, 2015
MANAGEMENT ACCOUNTING

Paper II

(Wednesday, 18-11-2015)  Time : 10.00 a.m. to 12.00 noon

Time—Two Hours : Maximum Marks—40

N.B. — @)

(@)

(@)

()

@

(@)

(iid)

(i)

Attempt All questions.

Figures to thg right indicate full marks.

Use of simple ;on-p_rogrammable calculator 'is allowed.
Working n;)tes are necessary, which a:am-*iesj marks.
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. : FACULTY OF comm:RcE
B.Com. (Third Year) (Sixth S'emeste?) EXAMINATION
- OCTOBER/NOVEMBER, 2015
MANAGEMENT ACCOUNTING
Paper II

(Wednesday, 18-11-2015)  Time : 10.00 a.m. to 12.00 noon

. Time—Two Hours ‘ Maximum Marks—40
N.B. :— (i)  Attempt All questions.
(@) Figures to the right indicate full marks.

(@i)  Use of simple non-programmable calculator 'is allowed.

(v)  Working nétes are necessary, which carries marks.
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The following are the financial statements of Shubham Ltd. for the

year ended 31st March, 2014 : 10
Profit and Loss Ale
(For the year ended 31st March, 2014)

Particulars Rs. Pmiculafs : Rs.
Opel__n'ng stock 1,99,000  Sales _ 1';",00,000
Purchases 11,19,000 Closing stock 2,98,000.
Gross profit 6,80,000

19,98,000 19,98,000
Operating Expenses 390,000 Gross profit 6,80,000
Non-operating Exp. ‘8,000  Non-operating incomes_ 18,000
Net Profit 3,00,000

6,98,000

6,98,000




A—06—2015

Balance Sheet

o

F \ (As on 31st March, 2014)

Liabilities Rs. Assets A 2
f Share Capital 400,000 ‘Land and Building . 4,60,000
| Reserve 1,80,000 blosi;ng stock | 2,98,000
P&L Alc 120000 S. Debtors 82,000,
b ' Bills payable i 80,000  Bills Receivable 60,000
. Other current Cash at B;ank .60,000
; liabilities | 1,8b,000. ; ¢
9,60,000 '_ g 9,60,000

You are required to calculate :

.(i) Current Ratio

() Operating Ratio
a : 2

(i) Gross Profit Ratio

(7v) Debtors Turnover Ratio. -
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Wfﬁ. 9 31 A, 2014 I HOO A fasa famd @cie
JHO STRA : . :
T T
(31 WTH, 2014 TS FOT=T FEiHTAD)

 faaTor = faaor %
IR Y 1,909,000 fa=t 17,00,000
EeIG| - 11,19,000 FI Y 2,98,000
THe oY 6,80,000

19,98,000 '19,98,006
=T =4 3,90,000 TFS AH 6,80,000
R-ufmren =@ 8000 TR-uf=EH ™ 18,000

- 3
TS o™ _3,00,000

6,98,000 6,98,000
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180,000 Tl WY
1,20000 fafay iiﬂﬁfr
80,000 WA fao3
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9,60,000

4,60,000

2,98,000

- 82,000

60,800

60,000

9,60,000
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g o 3 31 7, 9014 TS HuEA I fad faaw @ee

g STRA

AT T

(31 el 2014 TS HUUTT FRiaRIID)

YRYO] hHY

Hhe @Y

i =9d

I-ufEes =9

TS o4

+6,80,000

19,98,000

\

3,90,000

8,000

3,00,000

6,98,000

Tqho ¥

—gfmen 3

17,00,000

2,98,000

\

19,98,000

6,80,000

18,000

6,98,000
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4,60,000
2,98,000
82,000

60,000
60,000

9,60,000

P.T.O.
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Prepare Compar'ative Income Statements from the following data and

comment :
Particulars

Net Sales

Cost of goods sold
Adminiﬁrative Exp.
Selling Expenses.

Net Profit

freaw fam
fasta Ao afterm
WEHE TH
fawt =

q& oY

Income Statemenf

2012

(Rs.)
12,00,000
8,00;000
40,000
20,000

3,40,000

2012

(Rs.)

12,00,000

8,00,000
40,000
20,000

3,40,000

10

2013

(Rs.)
15,00,000
12,00,000

40,000

20,000

2013

(Rs.)
15,00,000
12,00,000

40,000

20,000

2,40,000
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The following statement presents the assets and liabilities and capital

of Mohan Ltd. for four years. Comment on the changes by using trend

ratios. Assume the year 2010 as base year :

v

Particulars 2010 2011 2012 2013
(Rs.) (Rs.) (Rs.) (Rs.)
Assets :
Cash 22,000 | 1,18,000 | 10,000 | 27,000
Investment . 80,000 25;000 5,000 5,000
Bills Receivéble 32,000 | 40,000 | 45000 | 60,000
Sundry Debtors 2,30,000 | 1,84,000 | 1,66,000 |1,77,000
Stock 1,15,000 '1,60,00Q 1,30,000 | 1,00,000
Prepaid Exp. %o,ooo 15,0‘00. 5,000 5,000
Other current assets 17,000 20,000 15,000 11,006
Buildings 28,000 | 23,000 | 36,000 26_,_000
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Fumitﬁre 31,000 | 26,000 41,000 | 35,000
Plant 3,22,000 | 294,000 | 501,000 | 4,58,000 y
Land 40,000 40,000 71,000. | 1,16,600 y
Total | 987000 | 945,000 |10,25000 |10,20,000
Liabilities and Cap;tal :
6% Preference Shares | 1,00,600 1,00,000 | 1,00,000 | 1,00,000
Equity Shares 4,00,000 | 4,00,000 | 500,000 | 500,000
General Reserve 90,000 80,000 42,ﬁ00 28,000
P&L Alc . -15,000 20,000 | 25000 | 30,000
Debentures 75,000 | 75,000 | 2,225,000 | 2,25,000
Bills payable 97,000 | 1,38,000 | 10,000 32,000
S. Creditors 1,60,000 | 1,00,000 70,000 42,000
Tax payable 15,000 10,000 27,000 34,000
Other current liabilities | 10,000 | ~ 6000 | 7,000 8,000
Advance Receipt 3,000 2,000 3,000 4,000
Reserve for Bad Debts 22,000 14,000 16,000- 17,000 i
kel 9,87,000 | 9,45,000 16,.25,090 10,20,000

B )



WT A A—06—2015
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. faawor 2010 2011 [ 2012 2013
: (%) (%) (%) (%)
. 7~ |
X ot
gy 22,000 | 1,18,000 | 10,000 | 27,000
RcELca : 80,000 | 25,000 5,000 5,000
- v ey | 32,000 | 40,000 | 45,000 | 60,000
Tafay o 2,30,000 | 1,84,000 | 1,66,000 ‘.1,'77,000
=Y 1.15,000 | 1,60,000 | 1,30,000 | 1,00,000
qeed B 70,000 | - 15,000 5,000 5,000
T TT HUe 17,000 | 20,000 | 15000 | 11,000
FHRA ‘ 28,000 | 23,000 [ 36,000 | 26,000
- -k
- SR 31,000 | 26,000 | 41,000 [ 35000
BSRE| 3,22,000 | 294,000 | 5,01,000 4,58,060
X et | 46,000 40,000 | 71,000 | 1,16,000
- THT 9,87,000 | 945,000 | 10,25,000 | 10,20,000

2T 0
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TTAT T WigaS
6% qATURR | 1,00,095 1,00,000 | 1,00,000 | 1,00,000
THAT ST 4,00,000 | 4,00,000 | 500,000 | 5,00,000
|qmr |iedt 90,000 | 80,000 | 42,000 | 28,000
DI E 15,000 | 20,000 | 25000 | 30,000
ﬁvmﬁ 75,000 | 75,000 | 2,25,000 | 2,25,000
<7 foamd 97,000 | 1,38000 | 10,000 | 32,000
fafay w=h! 1.60,000 | 100,000 | 70,000 | 42,000
F I 15,000 | 10,000 | 27,000 | 34,000
TR IO 3T 10,000 6,000 | 7,000 8,000
sufm gt 3,000 2,000 3,000 4,000
gé’\?r ot gferdt 22,000 | 14,000 | 16,000 [ 17,000
pE 9.87,000 | 9,45,000 |10,25,000 |10,20,000
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The Avantika Ltd. provides you the following figures relating to

production cost for the year 2014 : 10

Items Budgeted | Actual

(Rs.) (Rs.)

1,60,000

Direct Material 2,40,000

- 80,000 96,000

Direct Wages

4,000 3,200

Sundry Supplies

Indirect Wages 64,000 56,000

Maintenance of machine _ 32,000 40,000

Depreciation 4,000 4000

40,000 48,000

Motive pO\.ver

Production manager’s salary 24,006 : 32,000

Prepare responsibility accounting report for production cost centre

: E2% showing therein variances from budget in absolute figures and also

in percentage form.

P.T.O.
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aﬁiﬁw%.%wwmzommaﬂf?ﬁw Tifedt wrer
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L SHELECTO I Y
' (%) (%)
T Hri 2,40,000 1,60,000
Kt B (i 80,000 '96,000
fafay qear 4,000 3,200
I T 64,000 56,000
AT RO 32,000 40,000
; avramw 4,000 4,000
TMHF  ITRIT 40,000 48,000
SURA ATIHE a7 24,000 32,000

Or
(feram)
Write short notes on the following -

(1) i Limitations of Ratio Analysis

(2)  Objectives of Financial Statement Analysis.

oo drewm foqr fom -
(1) UK faresomen wafer
@ fodfta fomroren fardwos o

FET =0 IR Geten 3 shem weade freed e

4\ 1
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Narayan Company Ltd. is constdenng the purchase of new machine.
Two alternative machmes X’ and- o have been suggested each havmg :
an initial cost of Rs. 17,00,000 - _ i 10

Cash Inflows
' Machilna x | I_Machine ‘Y’
(Beya’ == 4 i)
3,00,000 : | _5,00;000
4,50,000 9,00,000

750,000 6,00,000

6,00,000 4,50,000

450000 1,50,000

The company has a target of return on capital of 10% and the present

i

value of Re. 1 at 10% discount is as follows :‘
Ye#r Present Value
0.909
0826
0.751

0.683
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On this basis, you are required to compare the net present value of
the machine and advise which machine should be purchased by using

.discounted cash flow method.
i a3 e’ et g’ gefavan e s yow A g2 fea

17,00,000 T 3T :

TG Awan
ag oax ‘e’ 3 ‘T’
(%.) (%.)
1 3,06,000 6,00,000
2 4,50,000 9,00,000
3 7,50,000 6,00,000
~ 6,00,000 4,50,000
5 4,50,000 1,50,000
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mi%aamm%atﬁﬁamﬁ%wﬁﬁ?a%w 10% 3TTER-
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ag

0.909

0.826

0.751

0.683

5 0621

aﬂamﬁaﬁwmﬂmmaﬁmaﬂﬁrmmmﬁ
AR q& JAE THAA TR FEA FUR A TRE
TR oo .

Or

Make out an estimate of working capital reduirement from the

following information of a company :

(@)

Annual sales 1,00,000 units

®)

Selling price ; Rs. 9 per unit

(©) Percentage of Net Profit on sales ' . 30%
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(d) Airerage credit period allowed to customers 10 weeks
(e)  Average credit period allowed to suppliers . 8 weeks

/Q) . Average stock holding in terms of sales
requirements : 15 weeks

(g Allow 15% for conﬁingencies.

WET® TR F ;.

@ aifts fawt v 1,00,000 =7
®) fawl fema 9 %. gﬁr T
© Toort oo g TR wfEE gmm 30%

@ TEHEA A B U TEH o 10 FTEER

(e) mwﬁ%mmm

Froratt ‘ 8 TS
H  ToEEn serTmTER T =y awron

HeEHt | 15 TS

@ WU TEEE 159% A=
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